WITME

FBARBTHEEERBBRICODIHEEERBOEE

| BREERBICEETSEERMBR -5

e | EERHUMX S B E DR E EE R =
4 # L & S w = | & &
1 | EFT10 AT TR #  0.06ha | —EpiEE 11
2 | EHT15 FEFETE _ERTHIP ¥ 0.35ha | —H¥EE 11
3 | EBT16 EFnE T _EETH A %1 0.06 ha 11
4 |EETL7 FEFNETT_ERTHIA ¥ 0.12ha 11
5 | kHT20 BRI _EET P ¥ 0.15ha 11
6 |EET24 FEFTE T _EETHLPY #1 0.07 ha 11
7 | EET25 FFTETT_ERTHP #  0.10 ha 11
8 |pg_LATY | EFnE TR EET—T B #hiN # 0.09ha | —ERIEE 10
9 | kT2 FEFTE TR EAT—T B #ipy ¥  0.12ha 11
10 |m§ LFT25 FERETE BT T BN #1 0.10 ha 11
11 | LnT32 FEFE TR EAT =7 B #N 1  0.02ha | —ER¥EE 11
12 @ LFr39 B ETRE BT =T B #hN 1 0.03ha | —ERE 11
13 1P _EHT40 FEFIETRE AT =T B 8N ¥  0.10ha 11
14 [P ERT42 ETETR LR T BHN ¥ 0.20 ha 11
15 |F _EAT42-1 R TR AT — T B #heY # 0,09 ha 11
16 [FH_kHT44 FEFETRE ERY T B #H ¥ 0.12ha | —HEE 11
17 |EEHFrras-1 FEfm TR =T B AN % 0.35ha | —EEE 6
18 |HREHEI28 R E TSI =T B H#hN #  0.10 ha 6
19 |BEFET29 F MR T B A %  0.12 ha 6
20 |TAHT6 FEfEmEAEN-=T A ¥ 0.05ha 16
21 |EAERT10-2 FEfET AR —T BN ¥ 0.12ha | —IEEE 11
22 |+AERT12 FEFN T AR AT PN # 0.53ha | —IHE 16
23 |+AHT20-1 0T S AERTH P #  0.07 ha 16
24 | H4ERT20-2 B0 AR HIN # 0.12ha | —EHEE 16
25 | AEHT20-3 FF0 T AT HI PN #1  0.06ha | —EfEE 16
26 |AEET20-4 S0 B AR BT R #  0.30ha | —EBiSE 16
27 | +AEBT20-6 FE AT AR RN # 0.03ha | —Ep¥EE 16
28 | tA:ET20-8 FF0 T AT P ¥ 0.03ha 16
29 |[-4HT25 R BT AR HIN ¥ 0.09ha | —#iEE 16
30 [+4HT41 FEFNETE AR RN % 0.09ha | —EiEE 12
31 | tHA:ET70 ¥ E AR HIA ¥ 0.06ha | —¥pEaE | 11, 12
32 |HAmET71-1 ¥ E AR HIN ¥ 0.05 ha 12
33 | 4ERr7i-2 N E T R # 0.08ha | —IHRIEE 12
34 |AEI74-1 %0 W AR BT N ¥ 0.09 ha 12
35 |tAEHT96-2 EfET-AER+-=T BN ¥ 0.24ha 12, 16
36 |{EFHET13-1 FEFN T A AT HN #  0.28 ha 11, 12
37 |HEET23 EfETMET—T B #AN #  0.16 ha 15
38 |[MEEESFRT20-2 | EfHETERSFETRA #  0.05 ha 15
39 |HEEESFET28 RN TR AT A #  0.05 ha 15
40 [FEAHT3-1 FFN A AT #iH #  0.13ha | —EHEE 15
41 |FEARTS N AR # PN #  0.16ha | —ERiEE 16
- 42 | FEAETY A B TSR AE HP #  0.06 ha 16
43 | FEAETL0 FEFN A TR AR H A #  0.10 ha 16
44 |[E EHT6-1 EfoE AR A #1 0.15ha | —EiETE 16

-30-




g | EERMMX AEREOWRELERE i
% # & I ® Z | &5
45 |E_EHT6-2 0 AR A ERT HIPN ¥ 0.07ha | —EEE 16
46 |E _EHET8 70 AR R AT HL P ¥ 0.02ha | —HEE 16
47 |E_EHAT BN TR R AT N # 0.10ha | —¥REERE 16
48 |FEAJEETT = T AR A ET HE Y ¥ 0.17ha | —E8E 4
49 |EHEHEr7-1 EFfETEAN T AR ¥ 0,23ha | —ERIEE 4
50 |EFHHETT-2 ERETEAN T BN ¥ 0.1l ha 4
51 |/\1&RT4 R0 T A ERT H Py #  0.22ha 3
52 |HF:HT4 ERET R =T B R ¥ 0.12ha | —HRE 4
53 |HFET12 EFET T =T B H#PY ¥ 0.06ha | —¥EE 4
54 [FHHAT13 ERETRHIT=T BH#N % 0.15ha | —ZIEE 4
55 | FHT18 R E T R =T B AN #  0.05ha 4
56 |HHEEI21-1 EFn E TR HET—T B HiP 1 0.09ha | —ERiEE 4
- 57 |HhFET26 SEFE TR —T BN #  0.10 ha 4
58 |HJtET2T7 FERETT R HIT—T B N # 0.06ha 4 .
59 |{FHMAT31 ERMBET T —T B #N ¥ 0.13ha | —WHEE 4
60 |FFFEET32-1 ERETEHRT=T A#N ¥ 0.08 ha 4
61 [FEART6 EfFETRAN =T BH#iN # 0.08ha | —ERIEE 4
62 |FEARETLT Ef AT RAR—T B#iN #  0.35ha 4
63 |[/IMRERRT15 RN T/ ERTHIA ¥ 0.09 ha 7
64 |/ARHET22 B Fn FE T /R BT HE P #  0.10 ha 7
65 |/NPAENT28 S0 E /s BRT HPY %1 0.08 ha 7
66 |/MREET38 EEFn M /AR R HIPY % 0,05 ha 7
67 |/ ELET41 RN AT/ M BETHIN ¥ 0.10 ha 7
68 |/iAEAT43 T B T ) BRRT H PN ¥ 0.08ha | —HHRE 7
69 |/MABRT47 R0 A BETHA ¥ 0.05ha 7
70 |/NMABRETS7 FEFETERAT N # 0.10ha | —¥HEE 7
71 [/MREHTE0 FFnET/MA BRI % 0.08ha 7
72 |/AAELRTT2 E 0 B AR R AT HE Y ¥ 0.03ha | —H¥EE 7
73 |#EEAT6-1 E E TR AT Y ¥ 0.16ha | —EREE | 7, 12
74 |HEEEI13-1 R TR IR BT Hi A ¥ 0.0lha | —IHEE 2
75 |HLFAT1-2 R0 TH A ET #HPY #  0.11ha | —¥¥$E%E 8
76 |HLLET1-4 B T L BLURT HUPS # 0.14 ha 8
77 |MFEKET1-5 B0 BT A T H Y ¥  0.08 ha 8
78 |HipLET26-3 FEFN E T LR AT H Y ¥ 0.09ha | —ERIEE 8
79 | TFHLHEET11 EFETHTHET =T BN # 0.09 ha 7
80 | TiLHBI14-1 ERETH THE =T H#A ¥9 0.18ha | —HpHEE 7
81 |TuhHHET31-2  |EF0ETHKETHN # 0.08ha | —ERiEE 7
82 |EA-pRETS EREHELRIT =T A ¥ 0.21ha | —¥EE 4
83 |ZELEERTY FEMAHELRIT =T BH#A # 0.11ha | —EMEE 5
84 |[H--BEET34 ERnRE BT —T BN # 0.22 ha 4
85 |FEL-PERT40 EfEHELRT—T B #iRN ¥ 0.05 ha 4
86 |XHAT5 EfETAITET B #AN # 0.10 ha , 7
87 |KHTXEL 7D TV R ERET H N ¥ 0.10ha | —EfEE | 7. 8
88 | RHETXAE?2 JEF0 H THIR K BR AT #i Py ¥ 0.16ha | —¥¥EE | 7. 8
89 | KFIXH3 T T R K BE AT M ¥ 0.17ha | —HEE 3
90 |kETXE4 EFnETAR T HH#PA ¥ 0.09ha | —HEE 8
91 [XBTRLES FEFETTRETINT B #I % 0.18ha | —EpiERE 8
92 |FEKHEAT3 50 FE T P A B AT M PN ¥ 0.10ha 5
93 R AKEEHTE-1 = F0 TR CREHT HL P % 0.03ha | —EERE 8
. 94 0 T KRG AT H S # 0.12ha | —ZiE 8

FRAEHET10-1

=31-




P A RER i Hh X A B E DR E AR PERHY &
% Tt @& S B = | & %
05 |AMETI0-2  |BRETEABRIEROERKITHA | ¥ 0.17ha | —IZREE 8
96 | ABEHTI6-1 FEMETS AN ¥ 0.10ha | —EEE 8
97 |&RHET2 FEFETS AR A “#1  0.05ha | —HBE 3
98 |4 oKHETT7 EMETRKEME VSN 0.42ha | —HEE 8
99 |5 KRHET8 FEFETS AR HIPA ¥ 0.05 ha 8
100 |45 ARHET9-1 BT A AR P ¥ 0.29ha | —EHEE 8
101 |4RET11-1 FEF0 B A AET HIPY 1 0.10ha | —ERI/E 8
102 |5KHT11-6 FEETS AR #A ¥ 0.12ha | —3fEE 8
103 |4 7KET12-3 ERETS AR N ¥ 0.12ha 8
104 |4 ARAT14-1 EMEATSARRTHA ¥ 0,07 ha 8
105 |MIEKET6-2 | EfETREXETHN ¥ 0.05ha 8
106 |HI&EAKHAT15 TN T ST H Py #  0.05 ha 8
107 |AiaKET18 FEF0 T TSR ET H Py # 0.08ha | —IiBwE 8
108 [RdLiIET8 S50 T i LU AT P ¥  0.1lha | —H¥EE 8
109 |FA BT 181 0 T LU BT P ¥ 0.03ha | —EiEwE 13
110 | [LIHT25-2 S0 FR 7T ) LU BT i Py ¥ 0.39ha | —ipiEE 13
111 |F§ILET31 0 PR T I LT P ¥  0.03ha | —EREERE 13
112 | 1LE736 0 H T LT #  0.07ha | —EhiEE 13
113 |=H\Er12 R M = HEAT AN ¥ 0.04ha | —HEBE 8
114 |=MHBr29-1 EF0 = B AT H N ¥ 0.07 ha 3
115 |=HBT38 EfnET = HETHA ¥ 0.06 ha 14
116 | = HBT39-1 FFn = HETHA #  0.1lha | —¥EE 14
117 |=HB739-2 FEFnETh = HETHIN ¥ 0.08ha | —ERE 14
118 [=mMHET40-1 FEFN T = RETHIN #  0.03ha | —EiiEE 13
119 |=HBT47-2 FEFn H v = T i ¥ 0.07ha | —E3EE 13
120 [=mAAT50 FEFN T = EETHEN #  0.14 ha 13
121 |=HEAT51 FEFN F T = BT Y #  0.08ha | —EBISE 13
122 |=mArs3-2 FEFn B = mETHN #  0.05ha 13
123 |=mHrsl JEF0 BT = EET N #  0.23ha 14
124 [=HEETS2 EfET=ET A ¥ 0.09ha | —ZHEE 14
125 [=MEAr67 BEF B = HET AN #%  0.06ha | —EiEE 14
126 | = FHHET63-1 FF0 T = HETHN ¥  0.08 ha 14
127 |EERT1-3 S0 B T RS T N ¥ 0.07Tha | —HEE 8
128 |BE{EET3-3 JEF0 E T EE ST AN ¥ 0.15ha | —IpiEE 3
129 |EEGHT8 JEFI B THEEGAT N ¥ 0.11 ha | —&piE%E )
130 {BEBRT24 EF0 ETh AT HN 9 0.11 ha 9
131 (EEHAT33 EfnHETTEGET A ¥ 0.11ha | —EiEE 9
132 |BEIEHT3T7-1 R T EIAKAT A # 0.21ha 8
133 |EEBXE] S50 H TG RT Y ¥ 0.22ha | —ERIBE 8
134 |EEEIXE3 S F0 B TR ET Hh Py ¥ 0.15ha | —EEE 8
135 |BEEIXES ¥ H TR RTHIA # 0.17ha | —ERISE 8
136 (BEHSIXEG S F0 T EEGET HE Y #  0.10ha 8
137 |BEGXET EfnE TGN # 0,21 ha 8
138 |EEG X H8-1 50 H T R HT Py # 0.1l ha 8
139 |EEEX 9 R BTG RT #PN ¥ 0.04ha | —HiEE 8
140 |BREXE11 FEFD T EREERT MO #  0.04ha | —EEEE 8
141 |2 PIET45 FEFRETE 2 ARTHIAN % 0.05 ha 7
142 | FHAET22-1 FRE /AR T B #N # . 0.07 ha 6. 11
143 | FHRET22-2 FEFET AR =T B %  0.06 ha 11
144 | FHRET23 FEFfET/\RET T B H#iN #  0.11 ha 6. 7

-32-




AR T

Ea 4 EIFEE DR A BERFHD X

% i fir & : [T - B & | &FF
145 | T#AHET44~1 EMETT LR —T BN #3  0.05 ha 12
146 | FHART44-2 FEFnEH_EAART T H N ¥ 0.07 ha 12
147 | THART45-1 EET AN T B#A #  0.07ha | —EMEE 12
148 | T#AMT62-1 EFEHTFRITRCEAM#MA| % 0.48ha | —##EE 12
149 | FHART62-2 BFfHT TR R ERETAN | % 0.21 ha | —¥fEE 12
150 | FHaRI62-4 B0 BT T AAETHPN ¥  0.40ha | —EHEE 12
151 |FAAET62-5 BN E R AERT #A % 0.10ha | —HREEE 12
152 | FHRRT76-2 0 B _EAAET N # 0.18ha | —¥iRE 12
153 | E#ANT29 N T _EAAET HIN #  0.05ha 1 12
154 | EAART30-2 RN BT FAART HE Y # - 0.29 ha 12
155 | EAAET33 R E AT L AERT I ¥ 0.10ha | —HIEE 12

156 | -#RET42-1 T TR R O AR AT HIY # 0.53ha | —ER¥EE | 12, 16
157 | E4AHT44-1 EFETT TABT RO EAREHA | §9  0.24ha | —¥HERE 16

158 | FinEres | EF0ETH TAARTHIRY #  0.78 ha 12, 16
159 |J24ERT15 0 F T R LI AT P #1  0.13 ha 13
160 |EAERT31-2 EfETEAR A ¥ 0.08ha | —EEE 12
161 jREAHT31-3 N E TR AR HIPY %1  0.05ha o 12
162 |BART41-3 BB RA RN % 0.05ha 12
163 |EBAEET50 EMAWRRAN =T BN ¥  0.10 ha 12
164 |BAEXES ERBATRAN=T BHA ¥ 0.05ha 12
165 |BARXES EMERRAN=T A A ¥ 0.05ha 12
166 |RAEXES Efmui AN =T B A ¥ 0.05ha 12
167 |BAREY EfAHEAN =T BH#A #  0.07Tha | —ZRIEE 12
168 |BARHE12 EFEHREANTET BN #  0.21 ha 13
169 |BAEXE18 FEFnE T EAR DT B AN ¥ 0.12ha 13
170 |[BAKE24 BEfnATHEAR AT BN % 0.20ha | —ERIEE 13
171 |RAERKE31-1 EfEHREAN AT BN ¥  0.01ha | —¥ERE 13
172 |BARE34 BEfETHRAR AT B H#iAN %  0.03ha | —ERIERE 13
173 |RAEXESS EFETHRARAT B #PY #  0.11ha 13
174 |FA4 XE44 Erm T RANI T B A #__0.09 ha 13

g 174 41X ¥ 21.60 ha
EF)BTEERMIBERR ,
' ' X H i e
A= FE R L X 600X % 107.07 ha

ERBHEICLD

B EERHIIERE 469ﬂﬂl2'. # 74.56 ha 90, A%hate R ARER

-33-




R B T 4 PR 1 5 RO 3B 81(1:35,000)

TR N AT
“)»,Rf-.%: '.‘2’0") g
AT AR

%

e S GA

1000 0

=34=



[%(1:6,000)

EMBATRELERME

s
2
k=
%
&
W
e
b

¥
B
|

am
|
4r

= s

AN

50 0 50 100m

#2023/l

174
=53

-35-



4(1:6,000)

BT RE L EFE

&

] Emmx
45 TE 4 Rk

B s

SEEE

50 0 50 100m

= me

-36-



0 A T4 TE A RE AR b 6 XE [0(1:6,000)

e
A

n-;»*.-m- \?\ /;/ /

> \;'2%,_\ 4 3
W0 s %
; L —,;4
45%’3 s
.‘JQ:I\!v oA

X
S
s
o

7

B

) sERtBR
Y5 TE L EE ARk
Bl s

W smmE
=F1>

oL

. g s
S o
sy R ke AL
: A TSIy i

Lf
i)

50 0 50 100m
™ e ===



Y

-38-

nEEETE

TFRONZTH

RO B T R 4 E A b # 7E (1:6,000)

o
>

IANRAN
Ih\\ S

FetMOI=TR
.(,0
\ Y

) eERmpR
YE BRI
B i

o amEE

=3

50 0 50 100m
™ s == |



AN A TS TE 4 EE AR M 5 XE [0(1:6,000)

] sEsnx
B LR




R TR 5 A FE A it 5 72 [(1:6,000)
o -Wb .Q;-flg" R F‘.’ \._ G ~- y ‘»- g %S 34 T :'” .z‘ ﬁy,l&fvy 2 "v 0;,';.‘{.30 o
R X - A ¢ ¥ I R 4 ¥ SN SO 807/ 4 d
' ;.f?’.«l NS %' Ve B3l /s, DS L 2o ‘/”/":/ S ".'“0}\7 o) @ i.@'
: WSS y N P 23 > ' & B :t“ :;_" -:."e ; 3 "ZWﬁ W
5 ; ‘ / x < / { LX) 3 :
TRortes r
‘u - S0

"‘ /)Qluﬂl‘l‘l‘ '
. >
A
\{\ 7 -

[ sEpmnx

W TE & AR
B e
I sEEE
= s

s

b&'ﬁ 23 ¥ Qr" AN é,.z_ X '..;A % e ’; 5 *:{ﬁn S OXOHD 5 SON ) o ‘4ﬂ

SR /
R % RS : _ X RN HI O\
G v N T T N A e
1 o % 5 ¥ e 4 O TN 17 O TN & 20 &) . SR << X . ¢ 2\
.Oxﬁk\z.« e NPy, 4 O RBNCS .A\%% & ROVER % ; \ m.x

N

50 0 50 100m
B e




= 30 E T4 5 4 FE Ak dth 5 7E B9(1:6,000)
A s i

" FRREETA
RERARR

TR dad

; /)\; 20
)%

XN " ;

EOPRRERRE
AXTBAN-TENE

7] e x

HEEERM
B e

LRSS,

/

X % o
s, £795 ¥4
P \ 3-202—- 15 @AM

-41-

50 0 50 100m
e




RO T 5 4 R AR 52 E(1:6,000)
N Y ol : g T/ ST s ’ {%’ .

% :
; T
s

N

NAN
N

N
il VA,

%

s

] sEsotnR

FE R
B e
L smEE
=R

50 0 50 100m
™ s ™1




5701 ER T TE A EE Ak it 45 E ((1:6,000)

[ £EnnR

FE L AR
| Jzird
0 smEE
==

50 0 50 100m
™ o =1

-43-



Eﬁmﬁﬁiitﬁﬁﬁ%ﬂaﬂmw

g

A

e

fel
\.?’

RS

Vet R "
TASYE o\
\ i N e RB\!
‘O’ S\ M
O NI VNN
T YL NN 7.
Y OO NI
X X A N

NN oA
V,'VQ) (X T 77
% 3

Y AT & N
AR

TR
NG

4
AN

N

A

b5

A2

." ) f’.'.‘.‘:.
RTTIN

il SRy

Y&

>

AP ¢
Sk "':(F"' X

2

-44-

10

[ sEgmnx

$TE 4 E LRI
B mse
SEEE
=P 13

50 0 50 100m
™ s =1



BRI TR E A FE iR 6 E B0 (1:6,000)

X “k.(‘ ?WQVV, NN TR IR %y'hs
&"f’ra XN, ?@\:\% XN o0 A / &
9‘ “9'\\ A 4 [ 5 < :/, ‘R\\

¢
2

%

A 11
TN P

YL

%

77

M) sEiubbR

HELEERM
Bl e

=

. \ At \ L - R 7 > : f i il
e N ST ' 7 YRS SN : B AT ol o 50 0 50 100m
N i, / 4 TSN \ 4 2 & A Y Y < 2 T o

VRSN (SN TS X = 3 : ™ e ==




FHA T E & E R ih 15 E K(1:6,000)

N GRS PR AN (AT 393
Ry \'“,—'«U A ,fﬁ;-.‘ 15
L

R

12

5 o { % N
1
&V%/h:
-t

&

[ sEsspnx
YR L E R

50 0 50 100m
e ™ e == |

Y
y

33
7
i v
B o
A

KN




B AT E 4 E kit E (1:6,000)

13

A
2
D

Al
J

5:6:202-2AKELM

7] sEsibibx

45 5E 4 EE R
B i

I sEEE
—

50 0 50 100m
™ s ==

-47-



[%(1:6,000)

{=3
H

FEAIETH 578 4 AR

14

EIf&E

B e
il
=L

o
5

50 0 50 100m

[ sEmmmx
FRE R

. : EiR . ﬁmﬂ,@% i

-48-



AN TR T AR A AR 52 [X1(1:6,000)

AV

15

] eERspnx

R E RN
Bl e

==

50 0 50 100m
™ s =1




. -v ZON 555 i .Q " It m{(

FEH E T 52 4 AR B 45 52 B0(1:6,000)

{

X

LA
NP 0

57 LA - 14 .
FANKS

-50-

16

[T eEspnR
Y e £ ERM

50 0 50 100m
o™ =1



